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Social Science 

 I.MCQ 

1.When were Samantas declared themselves as Maha-samantas? 

a.When they bring gifts for the king 

b.When they provide kings with military support 

c.When they gain power and wealth 

d.None of the above 

2.Which one of the following is not a threat to the environment? 

a.Growing population                  b.Growing plants 

c.Growing industries                    d.All of these 

3.Assertion- Reason 

Assertion- The deepest mine in the world is in South Africa. 

Reason- The Taj Mahal is made of  red sandstone. 

a.Both A and R are true and R is the correct explanation of A. 

b.Both A and R are true but R is not the correct explanation of A. 

c.A is true but R is false. 

d.A is false but R is true. 

4. Who represent our problems in the Parliament House? 

a.Ourselves        b.MLAs           c.SHO             d.MPs 

 

 



II.Read the source given below and answer the following questions. 

The Indian Constitution recognizes every person as equal.This means that every 

individual in the country, including male and female, persons from all castes, 

religions, tribes, educational and economic backgrounds are recognized as equal. 

This is not to say that inequality ceases to exist. It doesn’t. But atleast, in 

democratic India, the principle of the equality of all persons is recognized. While 

earlier no law existed to protect people from discrimination and ill-treatment, 

now there are several that works to see that people are treated with dignity and 

as equals. All persons are equal before the law. 

1.What do you understand by the term ‘all persons are equal before the law’? 

2.Who is known as the ‘Father of Indian Constitution’? 

3.Define- a.Democracy       b.Equality 

III.Answer the following in 1-2 lines(VSA) 

1.Name the three dynasties which fought with each other to gain control over 

Kanauj? 

2.How do plants and animals depend on each other? 

IV.Answer the following in 3-4 lines(SA) 

1.’We can not go to the centre of the earth’. Do you agree with the statement. 

Give reasons to justify your answer. 

2.To whom Mahmud Ghazni appointed to write an account of the subcontinent? 

Write the name of his work also. 

V.Answer in detail(LA) 

1. Briefly explain any one programme started by the government of India for the 

welfare of people. 

 

 

    

 


